/&

-
e % o

Cam Units CLC
Schieber CLC
Unita a Camme CLC

—

et

OMCR

STANDARD DIE COMPONENTS




Work Angle

CLC050 0+70°
CLC065 0:70°
CLC080 0-70°
CLC150 0-70°

Highly skilled workers

Slider Width

(mm)

50

65

80

150

Closed Cam
Height
(mm)

200
180 (0:45°)

190 (50-+55°)
210 (60-70°)

270

270

Work Area
WxH
(mm)

50x75

65x65

80x86

150x85

Max Work Force
wEh shoulder
10° cycles (kN)

41
)

83

140

GMCR

Extraction
Force Page
(kN) number

0,35:0,71 860
0,44:0,94 864
0,58+1,20 868
1,66+4,18 872

859

INDEX

v
]
(o]
%)
=
<
>
£
<
V]




OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

3D

STEP

CLC050.00
CLC050.05
CLC050.10
CLC050.15
CLC050.20
CLC050.25
CLC050.30
CLC050.35
CLC050.40
CLC050.45
CLC050.50
CLC050.55
CLC050.60
CLC050.65
CLC050.70

OPTION CODE

ORDER

Art.

Work Angle = 5°

SL

Sw

’E‘ EXAMPLE

CLCO050

05

SL55

SW65

N12

Work
Angle

30,21
30,52
30,34
30,53
30,41
30
32,55
35,38
38,57
42,26
46,67
52,10
59,09
58,26
57,59

Overall Dimensions

Max Work Force | Extraction Force
with shoulder (kN)

(kN)

41
41
41
41
41
41
41
41
41
41
41
41
41
41
41

0,66
0,61
0,56
0,71
0,66
0,66
0,66
0,66
0,66
0,66
0,66
0,59
0,52
0,38
0,35

OPTION CODE

SL
Sw
N

1+ 60 (1mm steps)
65 mm
@ 12H7

CLC050.00
CLC050.05
CLC050.10
CLC050.15
CLC050.20
CLC050.25
CLC050.30
CLC050.35
CLC050.40
CLC050.45
CLC050.50
CLC050.55
CLC050.60
CLC050.65
CLC050.70

225
226,91
223,72
224,36
220,76
215,85
213,58
204,89
206,72
202,01
195,73
189,83
179,27
176,60

177

102,69
103,06
105,94
116,30
125,08
126,87
135,83

860

118
112

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC050.pdf?1560938166
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCLC%2FCLC050
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCLC%2FCLC050

cLcoso OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

PT/o
X VIEW Vs 0
P11y 20 ‘ 110 |
@13 H7 (2x) ‘ ‘ ‘
OPTION N %’5@ o !
8 [ ——— —Qr 8 8
T opt
10 :0,05 130 2202

V)
)
(U]
)
=
=)
£
S
£ g
0 N
n'w
7]
g
o
Slider 9
Work | Inner | Work gm:g
Angle | Angle | Stroke (mm)
(mm)
0° | 50° 3021 | 3600 47
5 | 50° 3052 3307 43
10° 50° 3034 3034 39 20
15 50° 3053 2855 @ 36 D11 (4%) 20 h7

20°  50° 3041 2690 33 13 H7 (2%) |
25°  50° | 3000 2536 30 OPTION N 1\ a5y Foyp I Ay
30°  50° 3255 2654 30 s f—— o ——— “d g 8
35°  50° 3538 2806 30 f* © DT |
40°  50° 3857 3000 30 \

10 +0,05

45° | 50° 4226 @ 32,50 30
50°  50° 4667 3575 30 100 ﬂ_j

55° | 50° 5210 40,07 30

60° 50° 59,09 459 30 240
65° | 55° 5826 4846 25

70°  60° 5759 50,64 20

861 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC050.pdf?1560938166

cLcoso OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

862

INDEX



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base

i — Lower Plate

i
0.01:0.03 \

|

7

! Cam Slider
0.05+0.07

0.01:0.03 /:Fg[

Positive Return

v
Pt
(o]
%)
=
>
£
<
V]

Cam Driver
PART LIST
I N S I R 'R
1 Cam Base GGG-50 1
2 Cam Slider GGG-50 1
3 Plate CuZn25AI5 + Graphite - HB > 190 1
4 Cam Driver GG-25 1
5 Guide Bar 42CrMo4 + Graphite 1
6 Positive Return CK45 1
7 Male "V" Driver CuZn25AI5 + Graphite - HB > 190 1
8 Spring Block St44 1
9 Safety Plate St44 1
10 Spring - 1
1 Elastomer Cap Elastomer 92SH 2
12 Key CK45 1
13 Spring Spacer CK45 1
14 Cam Driver Fixing Screws M10x35 DIN 912 - 4
15 Cam Base Fixing Screws M10x40 DIN 912 - 4
863

INDEX



OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max Work Force | Extraction Force
OMCR with shoulder (kN)
DE

) (kN)

CLC065.00 0° 14,99 42 0,94

CLC065.05 5° 15,07 42 0,89

CLC065.10 10° 15,22 42 0,91

CLC065.15 15° 15,51 42 0,87

CLC065.20 20° 16,49 42 0,87

CLC065.25 25° 17,10 42 0,79

CLC065.30 30° 18,51 42 0,85

CLC065.35 35° 19,57 42 0,77

CLC065.40 40° 21,46 42 0,85

CLC065.45 45° 23,25 42 0,77

CLC065.50 50° 26,50 42 0,79

CLC065.55 55° 29,70 42 0,70

< < CLC065.60 60° 34,97 42 0,64
CA % CLC065.65 65° 41,37 42 0,54
m m m P.682 CLC065.70 70° 51,12 42 0,44

OPTION CODE

SL 1+ 60 (1mm steps)

OPTION CODE

= || QRDER Art. Work Angle = 5° SL

(8 || [ <[ cicos 05 SL55

Overall Dimensions

CLC065.00 0° 170 53 60 190 180
CLC065.05 5° 171,41 60,27 55 185 180
CLC065.10 10° 177,16 63,06 55 185 180
CLC065.15 15° 177,20 66,33 50 180 180
CLC065.20 20° 176,51 70,01 40 170 180
CLC065.25 25° 172,94 75,64 35 165 180
CLC065.30 30° 177,78 78,32 30 160 180
CLC065.35 35° 173,29 83,25 20 150 180
CLC065.40 40° 170,78 82,44 10 140 180
CLC065.45 45° 165,50 86,51 25 132,5 180
CLC065.50 50° 165,41 96,79 -5 125 190
CLC065.55 55° 159,51 99,89 -10 120 190
CLC065.60 60° 156,68 120,78 -20 110 210
CLC065.65 65° 150,33 122,80 -25 105 210
CLC065.70 70° 146,45 131,68 -32 98 210

864

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC065.pdf?1560938166
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCLC%2F%2FCLC065
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCLC%2F%2FCLC065

cLcoes OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

XVIEW ?13 @4x) 130
- 100

@10 H7 (2x)

-

oo

40
65

r
Lk

15 +0,05 100 002

>
7,5

CAM DIAGRAM g
c? \‘o‘&/\j 2
\(\‘)9 w 8
g
[
o®
<
S,

Spring
Work | Inner Stroke D
Angle | Angle (mm)

0 | 45 1499 | 1499 | 212 15

5 450 1507 | 1391 | 196 140
100 45° 1522 1314 183 D13 (4) 20h7
15° 45> 1551 1266 173 (10 H7 (2x)

200 45° 1649 1287 17 T X@ @
25 50° | 170 1445 171
30°  45° 1851 1355 @ 16,6 g 5& ’’’’’’’ *%"
35°  50° 1957 1552 166 ] $ Fa
40° 45 2146 1523 165

45 50° 2325 1788 165 |
50°  45° 2650 1881 171 15 2008 |
55 50° | 2070 2284 | 171 w
60° 45° 3497 2560 181 170
65> 50° | 4137 3281 | 181

700 55 5112 4335 181

L40
< 50 —=
-~ 65 — =

865 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC065.pdf?1560938166

cLcoes OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

866

INDEX



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

0.01+0.05

0.03+0.05

0.01+0.03

Cam Base

Side Plate
Cam Slider

Positive Return

Cam Driver

© o N e g R W N =

[ [ O O G Ty
OB W N = o

Cam Base
Cam Slider
Cam Driver
Side Plate
Positive Return R
Positive Return L
Male V" Driver
Stopper Plate
Spring Guide Pin
Safety Plate
Spring
Elastomer Cap
Key

PART LIST

Cam Driver Fixing Screws M12x35 DIN 912
Cam Base Fixing Screws M12x35 DIN 912

867

GGG-45
GG-25
GG-25
CuZn25AI5 + Graphite - HB > 190
CK45
CK45
CuZn25AI5 + Graphite - HB > 190
St44
34CrMo4
St44
Elastomer 92SH
CK45

NG D B NCYN PO SO N R S G RO D i OO O S (G

INDEX

v
Pt
(o]
%)
=
>
£
<
V]




CLCO080

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Max | Max Work Forge | Exiraction Force
LT Stroke | with shoulder (kN)
OMCR Angle

CODE

) GO s
T

CLC080.00 0° 32,14 83 1,09
CLC080.05 5° 38,45 83 1,20
CLC080.10 10° 38,89 83 1,09
CLC080.15 15° 39,65 83 0,97
CLC080.20 20° 46,08 83 1,09
CLC080.25 25° 47,78 83 0,97
CLC080.30 30° 54,25 83 1,09
CLC080.35 35° 57,36 83 0,97
CLC080.40 40° 64,28 83 1,09
CLC080.45 45° 69,64 83 0,97
CLC080.50 50° 77,79 83 1,09
CLC080.55 55° 87,17 83 0,97
CLC080.60 60° 98,48 83 0,85
CLC080.65 65° 81,56 83 0,65
CLC080.70 70° 86,38 83 0,58
SL 1+ 60 (1mm steps)
sw 100 or 120 mm
N 016 H7

OPTION CODE

R || OR0R Art. Work Angle=5° | SL | SW | N
(B ||[ <4 cicom 05 $L55 |swiz0| N1

Overall Dimensions

CLC080.00 0° 260 99 100 265 130
CLC080.05 5° 272,93 109,39 100 265 150
CLC080.10 10° 279,92 120,43 100 265 150
CLC080.15 15° 285,93 132,04 100 265 150
CLC080.20 20° 285,90 129,12 90 255 170
CLC080.25 25° 289,80 141,60 90 255 170
CLC080.30 30° 282,59 134,36 75 240 170
CLC080.35 35° 284,27 147,32 75 240 170
CLC080.40 40° 274,80 140,38 60 225 170
CLC080.45 45° 274,20 153,44 60 225 170
CLC080.50 50° 262,46 151,39 35 200 170
CLC080.55 56° 259,60 164,14 35 200 170
CLC080.60 60° 240,64 176,59 0 165 170
CLC080.65 65° 235,61 188,65 -5 160 170
CLC080.70 70° 227,83 195,53 -10 155 170

868

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC080.pdf?1560938166
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCLC%2F%2FCLC080
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCLC%2F%2FCLC080

CLCO080

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

OMCR

XVIEW

0°

50
10°
15°
20°
25°
30°
35°
40°
45°
50°
55°
60°
65°
70°

(2
996“0*
59‘\09

Ps

50° 32,14
45° | 38,45
50° 38,89
55° | 39,65
50° 46,08
55° | 47,78
50° 54,25
55° | 57,36
50° 64,28
55° 69,64
50° 77,79
55° | 87,17
50° 98,48
55° | 81,56
60° 86,38

Press Stroke

Spring
Stroke

50
50
50
50
50
50
50
50
50
50

50
50
35
30

@13 (4x)

20

@13 H7 (2x)
OPTION N

o
&
D
20 230
32 h7 D13 (4x)
@13 H7 (2x)
I OPTION N
I +—fo =~ &),
g 3 - —to|——&|- s
|t S= o
E +0,05
20 +0,05 230 20,02
270
869

INDEX

Cam Units CLC



https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC080.pdf?1560938166

CLCO080 OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

870



CLCO080 CMCR
AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base
i
]
'
—{ ' —
I
|
0.03:0.05 \(%')/ Side Plate
i d Cam Slider
0.05:0.07 ||
=) / O
o
0.01:0.03 | y 7
! Positive Return =]
f £
i 8
I
Cam Driver
PART LIST
1 Cam Base GGG-45 1
2 Cam Slider GG-25 1
3 Spring Guide Block GGG-45 + Graphite 1
4 Cam Driver GG-25 1
5 Side Plate CuZn25AI15 + Graphite - HB > 190 2
6 Positive Return R CK45 1
7 Positive Return L CK45 1
8 Male "V" Driver CuZn25AI5 + Graphite - HB > 190 1
9 Stopper Plate St44 1
10 Spring Guide Pin 34CrMo4 2
1 Safety Plate St44 1
12 Key CK45 1
13 Elastomer Cap Elastomer 92SH 2
14 Spring - 1
15 Key CK45 1
16 Cam Driver Fixing Screws M12x40 DIN 912 - 4
17 Cam Base Fixing Screws M12x45 DIN 912 - 4
871

INDEX



cLciso GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

Work | Max | Max Work Force | Extraction Force
OMCR Stroke | with shoulder (kN)

Angle
oo | ™ | ) | a0 ||

CLC150.00  0° | 32,14 140 4,18
CLC150.05  5° | 3226 140 373
CLC150.10  10° 38,89 140 418
CLC150.15  15° | 39,65 140 373
CLC150.20  20° 46,08 140 418
CLC150.25  25° | 47.78 140 373
CLC150.30  30° | 5425 140 418
CLC150.35  35° | 57,36 140 373
CLC150.40  40° 6428 140 418
CLC150.45  45° 69,64 140 373
CLC150.50  50° 77,79 140 418
CLC150.55  55° | 87,17 140 373
3P 3P % CLC150.60  60° 9848 140 3,25
ster | |cama CLC150.65  65° | 9321 140 240
["wes [ wes B wes B Pese CLC150.70  70° | 86,38 140 166
N @16 H7

OPTION CODE

G | | SRRER Art. Work Angle =5° N

(BN || [ [ oo 05 N16

Overall Dimensions

CLC150.00 0° 280 85 120 270 100
CLC150.05 5° 288,26 95,84 115 265 100
CLC150.10 10° 285,54 102,36 105 255 100
CLC150.15 15° 291,79 114,47 105 255 100
CLC150.20 20° 286,97 122,07 90 240 135
CLC150.25 25° 291,02 135,08 90 240 135
CLC150.30 30° 283,92 138,40 70 220 135
CLC150.35 35° 285,66 151,91 70 220 135
CLC150.40 40° 276,20 155,53 45 195 170
CLC150.45 45° 275,56 169,14 45 195 170
CLC150.50 50° 263,74 167,65 25 175 170
CLC150.55 55° 260,74 180,94 25 175 170
CLC150.60 60° 246,60 193,92 0 150 170
CLC150.65 65° 241,35 206,49 0 150 170
CLC150.70 70° 240,01 218,56 -5 145 170

872

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC150.pdf?1560938166
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FCLC%2F%2FCLC150
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FCLC%2F%2FCLC150

cLciso GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

XVIEW 0
MLT %
“® ¢ ©
[E A — 4.2 3
|
o 0

@13 H7 (2x) ‘ 45 10,05

OPTION N ‘

CAM DIAGRAM

N

=

v
Pt
O
%)
=
f=
>
£
<
9]

(4
%96\@*
k)
[
< 29
]
L =,
S

o

e
i Spring
Work | Inner
s‘ruke

0°  50° 32,14 3830 50 ‘———’7
5° | 55° 32,26 41,11 50
|

20

32 h7

10°  50° 3889 3889 50 @ @

15° | 55° 3965 = 4240 50 L7 ¢ ‘

20°  50° 46,08 40,76 50 ° 8 4 - o o
25°  65° 47,78 | 4519 50 2 T T T T ) T ®

60 =0
ol

30°  50° 5425 4423 50 |
35°  55° 5736 | 5000 50
453
40°  50° 6428 5000 50 . |
45°  55° 6964 5792 50  D13H7(2x) [ @13 (4x)
. . OPTION N
50°  50° 7779 5959 50 20 2005
55° | 55° 87,17 7141 | 50
60°  50° 9848 7660 50
65° 55° 9321 | 7753 | 40 280

70°  60° 8638 7596 30

In

E 0,05

873 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/CLC/Technical_info_CLC150.pdf?1560938166

OMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

£

874



GMCR

AERIAL CAM UNIT - OBEN HANGENDER SCHIEBER - UNITA A CAMME SOSPESA

0.02:0.05

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Base

Side Plate

Cam Slider

0.01+0.03

0.01:0.03

Positive Return

Cam Driver

© o N e g RwW N =

[ T O e e e ey
o AW N =

Cam Driver
Cam Slider
Cam Base
Side Plate
Spring Guide Pin
Stopper Plate
Spring Guide Block
Positive Return
Male "V" Driver
Key
Safety Plate
Elastomer Cap
Spring
Key

PART LIST

Cam Driver Fixing Screws M12x45 DIN 912
Cam Base Fixing Screws M12x45 DIN 912

875

GG-25
GG-25
GG-25
CuZn25A15 + Graphite - HB > 190
34CrMo4
St44
GGG-45 + Graphite
CK45
CuZn25AI15 + Graphite - HB > 190
CK45
St44
Elastomer 92SH

CK45

1
1
1
2
1
1
1
2
1
1
1
2
1
2
4
4

INDEX

v
Pt
(o]
%)
=
>
£
<
V]




	CLC - Aerial cam unit
	TECHNICAL NOTES
	CLC050
	CLC065
	CLC080
	CLC150


